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& = LEE AIEE i
I BEEDH
1. RBEE
REESE 34,597, 056 35, 246,572 -649, 516
*x i)} % 8,176, 317 1,674, 560 6, 501, 757
y =l HA = f % 5, 000, 000 9, 000, 000 -4, 000, 000
L[] h & A 31, 287 56, 053 24,766
*x i)} H & i % 0 289, 000 -289, 000
RBEERET 47,804, 660 46, 266, 185 1,538, 475
2. EEEE
(1) FEAKBAE
iE HA T8 4 5, 000, 000 5, 000, 000 0
HEABESET 5, 000, 000 5, 000, 000 0
BEE&ESET 5, 000, 000 5, 000, 000 0
BEEARE 52, 804, 660 51, 266, 185 1,538, 475
I BEni
1. REAE
*x E7N & A 2,674, 864 2, 345, 856 329, 008
T8 L 4 310, 077 477, 056 -166, 979
*x 7N pr A i % 72,000 72,000 0
*x E7N B & i % 100, 000 0 100, 000
RBAESE 3, 156, 941 2,894,912 262, 029
2. EE&E
® B B B #H & 5l % 360, 000 1, 440, 000 -1, 080, 000
EEBESET 360, 000 1, 440, 000 -1, 080, 000
BEAE 3,516, 941 4, 334,912 -817, 971
I IERKEAZEDER
1. IEEIEREAE
IEEIERBAESET 5, 000, 000 5, 000, 000 0
2. —fRIERREAE 44,287,719 41,931, 2173 2,356, 446
IERREAEE A ST 49,287,719 46, 931, 273 2,356, 446
BERUVIEKEBESE 52, 804, 660 51, 266, 185 1,538, 475







